Xpcal Calibration Parameters (2025-05-29)

V_Tx1 bg:

0.000081 + 0.000592 (729.08%)
V_Tx2_bg:

0.000067 + 0.000591 (884.43%)
V_Rx_bg:

-0.000025 * 0.000066 (-267.63%)

V_Tx1 _bg_true:

0.007299 + 0.000592 (8.10%)
V_Tx2_bg_true:

0.006345 + 0.000591 (9.31%)
V_Rx_bg_true:

-0.003784 + 0.000066 (-1.75%)
apha RxPDpWSK 1.

0.157177 + 0.000042 (0.03%)
apha RxPDpWSK _2:

0.157119 + 0.000039 (0.02%)
apha TxPD1pWSK:

0.443035 + 0.000021 (0.00%)
alpha_TxPD2pWSK:

0.602983 + 0.000027 (0.00%)

e 1
0.967569 = 0.000190 (0.02%)
e 2
0.954240 + 0.000203 (0.02%)
SP_1:
ca_SP P norm:
0.501834 + 0.000152 (0.03%)
ca_SP V_norm:

0.502047 + 0.000140 (0.03%)
SP_RxPD_norm_dan:
0.501862 + 0.004134 (0.82%)
SP_2:
ca_SP P norm:
0.498166 + 0.000168 (0.03%)
cal_SP V_norm:
0.497953 + 0.000139 (0.03%)
SP_RxPD_norm_dan:
0.498138 + 0.004134 (0.83%)
G2:
0.950646 + 0.015717 (1.65%)
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Voltage [V]
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TXPD1_AND_TXPD2 S10
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